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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
I

400

—

. N

Wk

[JV

[ 1A
I

WU

—

/\\v/\\

\K

sl

V

|

\%

100

50 75

100

125

150

175

30.0

27.5

25.0

TN

22.5

A

17.5

R —

15.0

12.5

150

80

—— RH

70

———  RHopt

5 ~_ N

. W,
o W

150

175

2000

|
—  ETcl
-  optETcl

1500

1000

500

3.0

2.5

2.0

1.0 /

1.5 /

0.5 _/

nI\/A\ I

\
N

0.6

T

0.4
I

50 75

100

125

150

175

— LAl ]




250

200

150

100

50

Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]

e M

R A L
a\gper

-ofa\ olo | g S0

* mmummm
» 9059000000688 ' v !
! —8— setVl ETcl |
— \/ \/ ‘ : —0— setVI|_fgRec
' 1 —@— setVI_VN
® é I —8— sliSetVl
1 I
0 10 20 30 40 50 60 70



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3—
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P3-7

ByiE) | BT (F)) | EHME (BAH/K) | XS R
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P3-7

BrE) | GEBAK @) | ERE(EAH/K (XS R
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P3-7

BfiE) | GEBATK (R)) | EBE (EF/HK) = ERE

06:55 278 150. 0 E 1BRi&e06:55 BEh (RAERE)
07:45 278 150.0 5| {Ri%@07:45 Bz (RAERSE)
08:55 278 150.0 = {RRiB008:55 B (FRFAEEE)
10:00 278 150.0 5 {Ri%@10:00 B3 (RAERSE)
10:55 278 150.0 El 1BRi&010:55 Bz CGRAEREE)
11:45 278 150.0 =l {Rige11:45 B3 (RAERSE)
12:30 278 150.0 Sl {Rige12:30 B3 (RAERSE)
13:15 278 150. 0 E| {Rige13:15 Bzh (RE{ERSE)
14:00 278 150.0 E BRige14:00 Bz CGRAERSE)
14:50 278 150.0 =] Ri%e14:50 Bz (REAERESE)
15:45 278 150. 0 5| 1Ri%e15:45 B CGREERE)
16:55 278 150.0 F BRige16:55 Bz (GRAERE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 5.8

FHERECE (2323.0 vs 3377.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=57 (2025-05-25)

T e g g g e S S B S g

100 A

50

200 A

150 -

100 -

1
o
!

3000

VI, Ve &RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2506
2100 100
1900 - 2000

284 386

FRV (ml d-1)

Warning: lcol [FVI',| "FVO’'] missing

4 30. 0
L 27.5
L 25,0 =

-22.5

1.0

20.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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25.
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24,
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24.

24.

24,

24.

24.

22
—o— ME
660 860 10'00
m=605,m FV0=0
0 —o— ME
8 -
6 -
4 -
2 -
605 610 615
m=760,m FV0=0
0 —o— ME
8 -
6 -
4 .
2 -
760 765 770
m=915,m FV0=0
—o— ME
8 .
6 -
4 -
2 -

915 920 925
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21.

21.

25.
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24.

24,

24.

25.

24.
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24.

m=455, FV0=0

M_E
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660 665
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—o— ME

860 865
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24.
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m=500, FVO0=0
87 —o— ME
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0 -
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4 -
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0 .
8 .
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44.
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5 -
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840 845 850
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5 -
0 -
5 -

1015 1020 1025

m=560, FV0=0
—— MW
40. 0 -
39.5 A
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T T T
560 565 570
m=720,m FV0=0
42.50 A . MW
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T T T T T
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P3-7

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:00 273 150.0 5| {Ri%@07:00 B3 (FRAERSE)
08:00 273 150.0 = {RRiB008:00 B (FRFAEEE)
09:25 273 150.0 5 {Rig@09:25 B3 (KRAERSE)
10:30 273 150.0 El 1BRi%010:30 Bz CGRAEREE)
11:25 273 150.0 =l {Rige11:25 B3 (RAERSE)
12:15 273 150.0 Sl {Rige12:15 Bz (REAERSE)
13:05 273 150. 0 E| {Rig@13:05 Bzh (RE{ERSE)
14:00 273 150.0 E BRige14:00 Bz CGRAERSE)
15:05 273 150.0 = Ri%e15:05 B (REAERESE)
16:25 273 150.0 E BRige16:25 Bzl (GRAERESE)
21t 2730.0 (100%) 1500. 0 3 IWHKEC: 2080.0, PH: 5.8

FHERECE (2223.0 vs 3240.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=56 (2025-05-24)

T e g g g S g B B g g

100 A

50

200 4
150 -
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Warning: lcol [FVI',| "FVO’'] missing
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- 1000
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Warning: lcol ["WC1',  "WC2'] missing
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-25.0
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TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=495, FV0=0
38.04 —@— MW
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37.0 -
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36. 0
T T T
495 500 505
m=685,m FV0=0
—— MW
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T T T
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P3-7

16:00 278 150. FA| 1Ri%e16:00 BHzh (RKAEESE)

BFE) | GEBRTIK () | S (EFH/F) | XS R
06:45 2178 150.0 PH| 1{Ri%e06:45 Bz (KRAFERESE)
07:45 278 150.0 & =| 1Ri%e07:45 Bz (kAEREE)
09:20 278 150.0 [ =| {Ri&e09:20 B (REAERSE)
10:35 278 150.0 & =| 1Ri%@10:35 Bzh (KRAHERESE)
11:50 278 150.0 | =| 1Ri%e11:50 Bz (kAERESE)
12:40 278 150.0 (Z=| {Ri&e12:40 B (RS
13:50 278 150.0 PH| 1{Ri%@13:50 B (RAERESE)
14:50 278 150.0 FA| 1BRi%@14:50 B3h (kAEREE)
0
0

2i+1]2502.0 (9)%) 1350. 32V HKEC: 2080.0, PH: 5.7

##[EKECE (2080.0 vs 3253.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=55 (2025-05-23)

T e g g e S B S g g
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Warning: lcol ['FVI’,

Warning: lcol ["WC1',  "WC2'] missing
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TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=490, FV0=0 m=515, FV0=0 m=570, FV0=0

—o— ME —e— ME 24.01 —8— ME
22.8 1 93 4 -
23. 8 1
22.6 -
23.2 1
22. 4 1 23. 6 -
22.2 1 23.04 23.4 -
22.0 1
22.8 - 23 9 4
21.8 1
21 . 5 - T T T T T T T T T T T T T T T
500 600 700 800 900 1000 490 495 500 515 520 525 570 575 580
m=615,m FV0=0 m=665,m FV0=0 m=715,m FV0=0 m=755,m FV0=0
23. 8 1 — N 23.6 1 — NE 23. 8 1 — NE — NE
24.0 1
23.6 - 23. 4 1 23.6 -
23. 8 1
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23. 4 1 23. 4 1
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23.0 1
23.2 4 23. 2 234 -
22.8 1
23.0 - 23.0 1 23.2 1
T T T T T T T T T T T T
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m=800,m FV0=0 m=855,m FV0=0 m=900,m FV0=0 m=955,m FV0=0
—e— ME —o— ME 23.8 1 —e— ME —o— ME
23.8 23.6 23.6
23. 6 -
23.6 23. 4 23.4 7
23. 4 1
23.2 1
23. 4 1 23.2 1
23.2 23.0 1
23.2 1 23.0 1
23.0 1 22.8 1
855 860 865 900 905 910 955 960 965
m=490,m FV0=0 m=515,m FV0=0 m=570,m FV0=0
3657 o mw —— MW 39 0 -
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